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West Bengal State University S
B.A./B.Sc./B.Com. (Honours, Major, General) Examir;htiiiﬁs, 2012
Part - II

PHILOSOPHY — HONOURS
Paper - III
( New and Old Syllabus )

Duration : 4 Hours _ [ Maximum Marks : 100

Candidates are required to give their answers in their own words as far as. practicable.

The figures in the margin indicate full marks.
( NEW SYLLABUS )

Answer Question No. 1 and any five from the rest.
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1. Answer any five questions : 5x5=25
@ @ 2ifeb 2o Taa fus ¢
a)  Give a brief account of Plato’s theory of forms.

(TOR WPRRETT ored FAfre [Raad M= |

b) How many types of ideas are recognised by Descasrtes ? Mention there names

and give examples.

(TS FOLPR LRN TP P 2 Surzaeiizg Aaafe e |
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c)

d)

e)

j

What are the' three kinds of knowledge admitted by Spinoza ?
FeiGite 1R1PS ﬁm e o o o 7 :

What ére the different kinds of monads admitted by Leibnitz ?

aRafie e & & APCSH FIEIA FCE ?

Is Berkeley’s Subjective Idealism Sdlipsistic ? Give reasons for your answer.

AT TGS SRAI fF SROHAM 2 WA SGLIR AT I et |

What does Spinoza mean by the dictum ‘Natura Naturata’ ? Is it identical wit

‘Natura Naturans' ?
78 4gfe’ Fre e & 3faicic 2 aft & S agfen’ e wfen 2
On what grounds does Locke accept abstract ideas ?

~What is the ‘law of sufficient reason’ accepted by Leibnitz ?

Azafe FFe oY xga ﬁwﬁ‘;ﬁ ?

How doés Hume distingulsh between Impressions and Ideas ?
qumwwﬁﬁ@ﬁs@@m@m ?

Distinguish after Kant, between analytic and synthéﬂc judgements.
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3.

4.

6.
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Answer any five questions ( within 600 words each ). \’ S 5x 15:= 75
@ @ #Af6T s 86 el ((voo =T Wta ) 1

Give an account of Plato’s theory of knowledge. How does Plato establish the theory

that ‘sense perception is not knowledge proper’ ? 8 +7

(ATHIA WPTIRR ToAa [Raad e | Bfirn oiors (@ 249 @M 8’ — 939 (5] Freia Afow

PECHA ?

How does Aristotle criticise Plato’s doctrine of Ideas ? Give your comments regarding

the criticism. _ 10 + 5
(2O HIReTeTed RerE SEEGEH el ANEDl SEC 2 4 @ WvE 151 e |

How does Descartes arrive at the principle ‘I think, therefore I am’ ? Is it an inferential

truth ? Discuss. 12 + 3

TS Fera iy e ofF, srour wift Wiy — @2 Are) Sopme zrce ¢ afb & Swees 79 ¢

DA IFA |

What does Leibnitz mean by the principle of ‘Pre-established Harmony' ? What is the

importance of this principle in his Metaphysics ? 12 + 3
Aizafe ‘sefeie Werrm’ aere & @ram 2 o sifdfarm 3 Jifea ey f 2
Give a critical account of Berkeley's thesis “Esse-est-Percipi”.

“wfey gopsfida” — adrem @2 Tfefba e an @ |
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10.

11.

space and time are aprioriv terms of intuition ? 10 +§
] € FIF HFCF IO TS I FF | FID (T (71 8 IS W37 [F0fia TP A=A 2
How dbes HumeA explain the relation between cause and effect ? Discuss critically.
28w freita 91 @ SrCer S A A ST 2 ARG SCAGA T |

Explain the nature of ‘Copernican revolution’. How does Kant bring about this

revolution in his philosophy ? Is this claim justified ? 12 +

‘IARTTER Reas e G0 I | 15 ol i e ‘@b [ere wbfem ¢ @
a3 wifda cfewel R e | |

Explain and examine Spinoza's theory of substance. Does he uphold the theory of ‘one

at the expense of ‘many’ ? Give reasons for your answer. 12 4+

foATAreTa By WerE Tedwis AfsIa iR T |f‘€ﬁﬁs‘m’ﬁﬁv@‘m’c¢ewﬁmﬁmﬂ}
Ter@d H940F gfE e | ' | . '

What are the different degrees of knowledge, according to Locke ? Is Locke’s viey
regarding intuitive knowledge compatible with his general empirical outleok ? Give

reasons for your answer. 8 +
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10+ 5
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12 + 3
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of 'one’

:12+3
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83 PHIA(HN)-03

( OLD SYLLABUS )

Answer Question No. 1 and any five from the rest.

SR %] G S (4 (I #ATB v Tad e |

Answer any five questions : ; 5x 5 =25

@ @ /6o 2 Ted fum ¢

a)

b)

c)

d)

€)

- What is the nature of substance according to Locke ?

QISR ARSI B E AT

What is Representative Realism ?

‘eifomell awam’ FICS A= 2

What is the main thesis of Berkeley’s Idealism ?-

6T ST e el ¢

What are the different kinds of Monads admiﬁted by Leibnitz ?

dizafie foerrmigg & & aremcen e[ 30w 2

How many types of ideas are accepted by Descartes ? State with examples.
FRPICER ST 4eNl 1 2l 6 R ¢ SwrmaeiE B |

On what grounds does Berkeley reject the distinction between primary and

®
secondary qualities ? :

@ @ Ifea fefers ake 47 a4 @ (N9 $To- Ty A1l TH PR R0 ?
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b RISTE SPTRe IR T SPias wafefes 3feh Iy % |
h) How does Kant distinguish between Analytic and Synthetic judgements ?
i 1T Freira Reaass @ SiKoaass Saaicea ey wN1<f< S 2

il i) What is meant by Interactionism ?

| <

| j) . What according to Spinoza, is a ‘mode’ ?

1 Fitrems wts ‘R’ R 2
Answer any five éuestions ( within 600 words each ). | | § 6 x 15 =75
@ o oifsf 2 Taw i ((voo *rw e ) | '

2 &, Cllritically explain Locke's theory of kpowledge.
(A WTOCEA AN iy fom |

3. Explain how Descartes proved t.h.e exlstencé of the external world.

m@ﬁs@mmmw@qum,@amnw |

4. How does Spinoza define ‘Substance’ ? Explain how Spinoza's substance is related to

its attributes ? : et 11 + 4

fFroigren e ‘WE'a 7@ e 7 PoEee SRR $E WA A O SR eiE a1
JFEA |

5.  What are the characteristics of Leibnitz's monads ? How many kinds of monads are

recognized by him ? How does Leibnitz explain the relationship between monads ?

6+3+6

1
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How does Locke refute the theory of innate ideas ? What-15 fre influence of this

refutation on his theory of knowledge ? A 12 + 3
T [FOIE FLTS YRNGG VG ICEF ? O WHOG 874 U3 46+ AHBIE [F ASR 0w ?

What is an ‘Abstract Idea’ ? Does Berkeley accept the existence of Abstract Ideas ?
3+ 12

‘S 4R’ F1E AE 2 AFcE o RS arema o Ma s 2

How does Hume distinguish between Impressions and Ideas ? What are the objections

against this theory ? , 10 + 5-
28w fFera Jad g giReR Wy Al I 2 O 93 AR Era 5 wiwfe a1 23 2

What is a Synthetic apriori judgment ? Is it possible in Metaphysics ? Explain Kant's

opinion about it. : 12 + 3
+{{osfa TS I I I 2 JRROR Q GISR 364 [ 3793 ¢ @ RFaca Fha T© AL 756 |
What are Innate ideas ? How does Locke refute the doctrine of Innate ideas ? 3 + 12

(@ ARNGRTE FZETS 4R I I 2 79 IS ATGTS YRANOG VG FCE ?



